
Time: 10 Minutes Paper Math 5 (T1) Total Marks: 10

1st Month, 1st Week, 4th Day Syllabus: Unit # 1  Exercise #.1 Q # (5)

Q.No.1 Encircle the correct answer from the following choices. (5)


i. 2.479 321 as in expanded form:  479 321

(a) 400 000+900 00+7 000+200+30+1 (b) 400 000+70 000+9 000+200+30+1

(c) 400 000+700 00+9 000+300+20+1 (d) 400 000+70 000+9 000+100+30+2

ii. 3.Eight hundred seven thousand eight hundred in numerals:


(a) 807 800 (b) 870 080 (c) 870 800 (d) 807 008

iii. The Place value of "6" in number 736 231 is:  "6"736 231 
(a) 60 000 (b) 6 000 (c) 600 (d) 60

iv. In 856 211 the digit ______ is at thousands place.

 856 211

(a) 2 (b) 5 (c) 6 (d) 8

v. Four hundred thirty two thousand four hundred one, in numerals:


(a) 423 402 (b) 432 104 (c) 432 401 (d) 432 403

Q.No.2: According to 2017 census, the population of Islamabad is 114 825.

 114 825  2017

(i) Write it in words. (2) 
_________________________________________________________________

(ii) Write it in expanded form. (1) 
_________________________________________________________________

(iii) Write the place of each digit in it. (2) 
_________________________________________________________________
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